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o SHA 29 428,000 264,000 164,000
307 212+01 A 428,000 264,000 164,000
05 BIZ2tR &= 428,000 0 428,000
OZ0e ZS=HAl 2& 428,000
AMUHA SSHERE =4 700,000 0 700,000
401 Al EHIZL 2OhY| 700,000 0 700,000
01 Al Hl 696,000 0 696,000
OANUHA SsEFY &4 696,000
03 Al 2CHH] 4,000 0 4,000
OANUHA SSEREY 24 4,000
AMUHA S3eA 8 &X 400,000 0 400,000
307 212+01 o 400,000 0 400,000
09 2+HELS 400,000 0 400,000
OANUH A S04 238 Z
Jh e 400,000
AMUWHA S#LXE LED WA 400,000 0 400,000
307 212+01 o 400,000 0 400,000
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dF= W=uNsSeE4dst 2gels 24 XN& 30,000 0 30,000
307 212+01 A 30,000 0 30,000
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Od=+ WsusSedst 283 24 N 30,000
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09 2+=FHEXS 311,388 0 311,388
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= 1,083,000
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201 YEr2gy| 10,000 10,000 0
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DEQF AL & 200,000 300,000 100,000
401 A& HIL 2 CH I 200,000 300,000 100,000
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02 2324l 10,000 10,000 0
o0z32= % HA 10,000
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